
250 SX-F 2015 <2015><US><F8175O5>
CLUTCH COVER

13657

Pos Part Number Description Additional Text Quantity

1 77730001144 CLUTCH COVER CPL. 1.00

4 0472024120 CIRCLIP DIN0472-24X1.2 1.00

5 0760142450 SHAFT SEAL RING 14X24X5 VITON 1.00

6 77730025000 CLUTCH COVER GASKET 1.00

12 59030019100 OIL LEVEL GLASS 1.00

13 61030019050 CIRCLIP OIL LEVEL GLASS 03 1.00

14 0025060206 HH collar screw M6x20 TX30 2.00

15 0025060456 HH COLLAR SCREW M6X45 TX30 3.00

16 0025060256 HH collar screw M6x25 TX30 8.00



17 7723002600015 CLUTCH COVER OUTSIDE 1.00

18 77230027000 GASKET FOR OUTER CLUTCH COVER 1.00

19 0770191015 O-RING 19,00X3,00 NBR 1.00

20 58030120000 OIL FILLER CAP M24x3 W. O-R 1.00

21 0025060406 HH collar screw M6x40 TX30 2.00

32 0625062022 BALL BEARING 6202 C0 2 1.00

34 0472300120 CIRCLIP 30X1,2 1.00

38 07601530451 SHAFT SEAL RING 15X30X4.5 BAUD 2.00


